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Wednesday, 3 September, 2003

Time allowed: 45 minutes
Instructions:

1. Open this booklet when asked to by your teacher.

Z. Calculators, rulers, geometrical instruments or other
aids are NOT permitted.

&5 Working paper will be supplied by your teacher if
required.
NO working is to be shown on your answer sheet.

4. All answers MUST be recorded in PENCIL on your
answer sheet.

S When your teacher gives the signal, begin working on the
problems. You have 45 minutes working time.

6. Marks will NOT be deducted for incorrect answers.



SECTIONA

Each question in this section isworth 2 marks.

1.

Which number isthe smallest?
(A) 426103 (B) 432205 (C) 447218 (D) 423605

Which is“three hundred and thirty thousand, three hundred and
three’?

(A)33303 (B)303303 (C)330303 (D)330330

Theanswerto 707 + 596 is

(A) 111 (B) 1203 (C)1293 (D) 1303
How many faces has a rectangular pyramid?

(A)4 (B) 5 (C)6 (D)8

The Newcastle Permanent celebratesits centenary thisyear.
In what year did the Newcastle Permanent first open for business?

(A) 1903 (B)1928  (C)1953 (D) 1978

What isthe missing number in this pattern?

7, 18, 29, 40, 51, __, 73
(A) 62 (B) 63 (C) 64 (D) 65
4007
X 9

(A)3663  (B)36063 (C)36603 (D)42003



10.

1.

12.

13.

14.

15.

How many even numbersare there between 39 and 697?
(A) 15 (B) 14 (C) 12 (D) 10

The product of two numbersis 606. One ofthese numbersis 3.
The other numbersis:

(A) 22 (B) 202 (C) 603 (D) 1818
A car travelling at 88 km/h travels how far in 4 hours?
(A) 22km (B) 202km  (C) 322km (D) 352km

Anne bought 5 pensat 97 cents each. How much change from
$10.00 should she be given?

(A)$4.85 (B)$5.15 (C)$6.15 (D) $6.85

What digit does * stand for 42 26
in this subtraction? — 1% 43

24 83
(A)1 (B)2 C)7 (D)8

A train left Broadmeadow at 1:49 pm and arrived at Wyong at
twenty-five minutesto three that same afternoon. How many
minutes did thejourney take?

(A) 96 (B) 86 (C) 54 (D) 46

The perimeter of arectangleis 24cm. The length of the rectangle
is8 cm. What isitswidth?

(A)12cm  (B)6cm (C)4cm (D) 3cm
Which isthe shortest measurement/

(A)0.03m (B)30cm  (C)300mm (D) 0.003 km



SECTION B

Each question in this section isworth 3 marks.

16.

17.

18.

19.

20.

If thedistance from the centre of acircletoits
circumferenceis 80 mm, then thecircle's’:

(A) diameter is 160 mm.
(B) diameter is80 mm.
(C) radiusis 160 mm.
(D) radiusis 40 mm.

Kosta hastwo-thirds as many marbles as Billy.
K osta has 18 marbles. How many has Billy?

(A) 6 (B) 9 (C) 12 (D) 27

Which isthe greatest?

3 0 37
(A) vy (B) 2% (C) 07 (D) =
The graph showsthe Minimum/Maximum

Daily Temperatures

minimum and maximum O

temperaturesfor each
day of a school week. 40
Which day of that week

had the highest minimum
temperature?

(A) Monday

(B) Wednesday

(©) Thursday

(D) Friday

20

0

Mon Tues Wed Thurs Frid

Another way of writing 47 tenthsis:

(A) 0047 (B) 047 (C) 47 (D) 470



21.

22.

23.

24,

25.

Thesum of aright-angle and an obtuse angle must be:
(A) areflex angle

(B) an obtuse angle

(C) astraight angle

(D) and acute angle

In thisaquare, the sum of the

numbersin each row equalsthe

sum of the numbersin each
column.

What isthe number represented
by * inthe bottom left hand
corner of thissquare?

(A) 265 (B) 220 (C) 45 (D) 39

Eight separate one cubic
centimetre cubes were glued
together to makethis model.

The surface area of thismodd is;

(A)17cm? (B)20cm? (C)26cm? (D) 34 cm?

Which isthe best value?
(A) 1 kgfor $3.30

(B) 750 g for $2.40

(C) 300 g for 90 cents
(D) 250 g for 85 cents

A vehicletravels 28 km in 35 minutes. How many km/h isthis?

(A) 40 (B) 48 (C) 50 (D) 55



SECTION C
Each question in this section isworth 4 marks.

26.

27.

28.

29.

30.

How many different rectangleswith a perimeter of
26 cm could be drawn if their side length measurements
werein “whole” centimetres? (Note: A 2 cm x 3 cm rectangle

isto beregarded asthesameasa 3 cm x 2 cm rectangle.)
(A)2 (B) 6 ) 7 (D) 13

The difference between increasing a number by
5% and decreasing it by 4% is45. That number is:

(A) 450  (B) 500 (C) 4500 (D) 5000

How many rectangles aretherein thisfigure?

(A) 7 (B) 17 (C) 18 (D) 20

This graph shows how

$120.00 is shared amongst

Andrew, Joel and Ryan. w
Which statement isTRUE?

(A) Ryan has more than $40.00.

(B) Together, Joel and Andrew have less than $90.00.

(C) Together, Ryan and Andrew have less than $80.00.

(D) Together, Ryan and Joel have more than $30.00.

The average of a sequence of six consecutive multiples of three
is43.5. What isthe largest number of that six number sequence?

(A) 42 (B) 45 (C) 51 (D) 54



31

32.

33.

A diagonal isan interval which
joinsa pair of cornerswhich are
not adjacent. Three diagonalsin
thisHEXAGON are shown by
the dotted intervals. How many
diagonals could bedrawn in a
regular OCTAGON?

(A) 40 (B) 20 (C) 15 (D)5
The 15 cm x 8 cm rectangle 14cm
shown ismade up of three

blank squares and a shaded

rectangle. 8cm

The area of the shaded
rectangleis:

(A) 8 cm? (B) 6cm? (C) 4 cm? (D) 3cm?

If the shading pattern shown in Figures 1, 2, and 3 is continued
for Figures4, 5, 6 and so on, how many shaded squares would
therebein Figure 9?

Figurel Figure2 Figure3

(A) 60 (B) 61 (C) 180 (D) 181

TURN OVER THE PAGE FOR
QUESTIONS 34 AND 35.



35.

Five students sat for atest. What was the minimum
percentage mark a student could have achieved if
the average mark achieved by the five students

was 85% ?

(A) 0% (B) 5% (C) 20% (D) 25%
Because 3*= 3 x 3 x 3 x 3 = 81,then 81°® = 3.
Which of the following equals 32°2?

(A) 2 (B) 6.4 (C) 64 (D) 1024

THERE ARE NO MORE QUESTIONS



